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Board Rangkaian Modul Tugas Akhir
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B.  Listing Program Keseluruhan

$include "gambar.h”

finclude <SPL.h>

#include <Wire.h>

$include <Adafruit GFE.h»
#include <Adafruit 33D1306.h>
$include <TimerOne.h>
$include <EEFROM.h>

gdefine OLED RESET 4
Adafruit 35D1306 display(OLED RESET);

$define NUMFLAKES 10
gdefine XPOS 0
$define YPOS 1
$define DELTAY 2

fdefine L0OGO16 GLCD HEIGHT 16
#define 10GO16 GLCD WIDTH 16

//read internal voltage

long readVec() |

long result;

// Bead 1.1V reference against AVcc

ROMIX = BV(REFS0) | BV(MUX3) | _BV(MIX2) | BV(MUK1);
delay(2); // Wait for Vref to settle

ADCSRA |= BV(ADSC); // Convert

while (bit i3 set(ADC3RA, ADSC)):

result = ADCL;

result [= ADCH << &;

result = 1126400L / result; // Back-calculate AVcc in oV
return result;



[/tampilan indikator tegengen dan batteral

boolean flag mite=false;
void bat_indicator ()|
it by

dowble curvolt;

curvolt = double( zeadVec() ) / 1000;
display. setTextSize(l);

display. setTextColor (WHITE) ;
display.setCursor(0,4);
display.print("BAT:");

display.print (curvolt);

display.peint (" ');

1f (flag mte==trug|{

display.print(" MITE");)

if (curvoleod. 21) fhell;)

elae {h=(curvolt-3.2)110.0/0.91E (ne) (k=0 ) E (m10) (=103

anitch ()

case o display.drawBitmap(l04, 0, Datery, 24, 12, 1); bresk;
case 1o dizplay.drawBitmap(104, 0, bateryl, 24, 12, 1); bresk
case 2 display.drawBitmap(104, 0, Dateryl, 24, 12, 1); bresk;
case 3 display.drawBitmap(04, 0, Dateryd, 2, 12, 1); bresk;
case 4 dizplay.drawBitmap(104, 0, bateryd, 24, 12, 1); bresh
case 5: display.drawBitmap(04, 0, Dateryd, 24, 12, 1); bresk;
case 6 display.drawBitmap(l04, 0, Dbateryé, 24, 12, 1); bresk;
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caze T display.drawBitmep(104, 0, batery?, 24, 12, 1); break;
caze §: display.drawBitmep(104, 0, bateryd, 24, 12, 1); break;
caze 9 display.drawBitmep(104, 0, bateryd, 24, 12, 1); break;

caze 10: display.drawBitmap(104, 0, bateryll, 24, 12, 1); break;
caze 11: display.drawBitmap(104, 0, bateryll, 24, 12, 1); break;

|
display.display();
|

//Perhitungan Laju Dosis dan Dosis

$define buz 13 // buzer di pinl3

$define awl 5 // button |

$define w2 6 // button 2

$define awd 7 // button

fdefine CONV FACTOR 0.0057 // Convertion Factor 3BM-2(
float usievert,usiv;

long cpm;

un3igned int cps;

void countPulse() |

Cpat

|

int tick=0;

void calculatecpm()

detachInterrupt(l); //nonaktifkan interrupt 1
CpI=Cp3;

usievert=cpm*CONV FACTOR*60.0+10;

usiv=nsiv + usievert/3600.0;

tickt;
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if (tick»3%){ //setiap sath menit sekall disimpan

writeBERROM(0, uaiv);

tick=; //reset kenball ke awal uncuk count

|

cpa=l;

sttachincerropt (L, comntPulse, FALLING); //aktifkan INTL terhubung ke senser high ke low
|

vnid beep(){
digitaliirite (bz, A1GH);
delzy(50);

digitalirite (buz, LOR) ;
delzy(R0);

|

void reset ugivi) |

iflle(l) ]

display. clearligplay();
display. setCursor (0, 16);
display. setTextSize(l);
display.println|"Reset Dose?");
display.println ("T/");

bat indicator();

delzy (100);

if (dinitalRead (sw2)==L0N){ beep();zeseting(); qoto kel;]
if (digitalRead (aw3)=L0N)
beep(;

display. clearlisplay();
display. setCursor((, 16);
display. setlentdize (1);
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display.println("Canceling...... "\;

bat_indicator();

goto kel;}

}
kel:

delay(1000);
}

void reseting() |

int i;

for (i=0;1<101;i+4)]
dizplay.clearDisplay();
display.setCursor(0,16);
dizplay.setlextSize(l);
display.println("Reseting...... "\;
digplay.print(i);
display.println{™ %");
bat_indicator();

}

writeEERROM(0, 0.000);

usiv=0; //nilai dosiz rezet
beep():
dizplay.clearDisplay();
display.setCursor(0,16);
display.setTextSize(l);
display.println("Reset Done");
bat_indicator();

delay(1000);
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void setwp() |

/] pat your setup code here, o run once:

serisl.begin(3600);

pinfade (awl, INEUT PULLIR);

pintéade (aw?, INEUT PULLTR);

pinbiode (gw3, INECT_ PULLTR);

pintide (13, OTTRUT);

/] by default, we'll generate the high voltage from the 3.3v Line internally! (nest!)
diaplay. begin (3301306 SWTICHCARVCC, (wdC); // inicialize with the I2C adir 0s3D (for the 128664
/[ nit done

Latv=readEEEROM(0);

// Show ienege buffer on the diepl y 8y herdvaze,

/! 1m:eene115,, this will display the epleeheereene
display.clearDisplay();

display.drawBituep(0, 0, logo umy, 126, 84, 1);
display. display )

deLay (5000);

Tirerl,initialize (1000000); //buzt caleulate com tisp 1 detik
Tirerl.attachIncerrupt (calculatecpn);

attachinterrupt (1, countPulsg, FALLING) ;

/[ Clear the buffer,

display.clearDisplay();

|

void loop() {
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